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Upphwiywt Zwudhl Upundh 00210004 19,6 588 20 20 20 20 18
Unwuwput Qtnkghy Oniupuh 00210006 10,93 328 12 10 12 8(L1) 11
Usthpumyut Lhw Uwpanih 00210007 17,17 515 18 13 17 18 17
Utuniywt Ujnhpwp Uhpwgh 00210009 12,47 374 13 11 13 11 13
Phquupyut Upthhut Upnwnh 00210012 12,67 380 14 15 14 9 11
Pijiwquput QtUdw Ulnpuihyh 00210013 13 390 15 16 13 10 10
Ppmuunyub Unlyw Qupkuh 00210014 12,97 389 18 9 13 8(L1) 9
Quyniuuyut Uhwhhin Jpunghdhph 00210016 19,07 572 20 20 19 20 16
Quuwupui Lupky Upwniph 00210017 8,4 252 9 8(L2) 8 8(L2) 8
QAnuhyub Uplukl Ywpkuh 10510046 14,27 428 16 16 15 10 13
Anuuljub Uwdyl) 2pwgjugh 00208013 8 240 8 8(L1) 8 8(L1) 8(L1)
Qphgnpyult Uwdyly Lnduyh 00210019 8,37 251 8 8(L1) 8 9(L2) 9
Blughpuput Lphunhut Nwdhyh 00210020 12,5 375 13 15 13 10 12
bphgiutt Lhwiw Upnwh 00210021 19,33 580 20 20 19 18 19
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vwjupjut Ukph Lunbh 00210023 18,93 568 19 20 18 20 18
hwswnpub ‘Untw Udpmnh 10510059 13,3 399 15 16 13 13 9
Owwnnipjubt Snhwp Updkuh 00210026 17,3 519 17 20 17 17 17
Zupnipjniyut Yhwtw  Qwpnidwih 10510064 13,7 411 15 18 13 13 10
Zupmpniiyu Qupkt Gwdugbh 00210029 11,97 359 14 10 13 11 9
Qwqupyub Upkquwq Enupnh 00209026 12,67 380 13 17 13 11 11
Qwqupub Ukhut Uquup 00210032 9,47 284 10 12 10 8 8
Awjpwjuyut Uppnthh Onpkpunp 00210033 13,37 401 18 11 16 8 8
Uwplnuut Lupkl Qwdhyh 00210035 8,6 258 9 8(12) 8 8(12) 9(12)
Uwpuppnuyui Upunp dwpngbuh 00210036 12,7 381 16 10 14 11 8
Uwpunhpnuyut Fudhp dwqqhuh 00208028 8 240 8 8(L2) 8 8(L2) 8(L2)
Uwpuhpnyuwt dwbbw Uppniph 00210037 14,83 445 17 18 17 13 9
Ubghtywt Uwphwd Qwpkghth 00210038 19,8 594 20 20 20 20 19
Nbnpnuyub Gwebhy Zuyyh 00210041 8,4 252 9 8(L2) 8 8(L2) 8(L2)
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Mhnpnuyyut @nhwp Gwnuhyh 00210042

Uwpquuit Uykwnjywbw Thpwljh 10510084

Stp-Qunpgyut Twht Updkuh 00210046

Ohwiyut Thihp Pwnpudh 00210047
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